Tuning Parts Ltd.

BE3LLEBHU Tpbbun 25CrMo4  Fhe Ferformance Shop

BE3LLEBHU Tpb6bu Chrome Molybdenum 25CrMo4 / 25cd4s
/// Matepuan: Chrome Molybdenum 25CrMo4

MpunoxkeHue: CbcresatenHn OKauBaHUA 32 BUCOKU HAaTOBapBaHUA

Produced according UNI6403 / DIN 2391.
Equivalent to 4130 air hardened tube.
Tensile Strength 800-1000 N/mm?

Strain Limit >700 N/mm?

Suitable for Roll cage / tube construction / frames

Terno (kKr) BbHLweH BbTpelueH debenuvHa LleHa 3a 1 meTbp

3a 1 meTbp OnameTsbp (MM) OnameTbp (Mm) Ha cTeHaTa ne.c AAac
0.400 15 12 1.5 mm 24.55
0.700 20 17 1.5 mm 30.70
0.880 25 22 1.5 mm 34.80
1.050 30 27 1.5 mm 42.10
1.240 35 32 1.5 mm 52.00
1.630 35 31 2.0 mm 68.15

Phone / Viber / WhatsApp: +359 (0) 887 926621




YCUNEHWU YHnb6anu The Pefmance Shop

YCUNEHU BbHWwHa Pe3ba

,-' BbTpeweH Pasmep Ha LleHa
OnameTbp (MM) PesbaTa ne. c AAC

6 M6x1.0 acHa 19.80

6 M6x1.0 Jiaga 19.80

8 M8x1.25 [AacHa 23.50

8 M8x1.25 Jiasa 23.50

10 M10 JacHa 29.60

10 M10 Jiaga 29.60

12 M12 [acHa 34.80

12 M12 JiaBa 34.80

12 12x1.5 acHa 34.80

12 12x1.5 Jlaga 34.80

14 M14 [acHa 39.90

14 M14 Jiaga 39.90

14 14x1.5 [AacHa 39.90

14 14x1.5 Jlaga 39.90

16 M16 [acHa 44.60

Matepuan: 4130 Chrome Molybdenum 16 M16 /laBa 44.60
Matepuan Ha flarepa: CtomaHa 52100 16 16x1.5 facHa 44.60
MokpuTne: NYLON (Teflon®/Kevlar®) 16 16x1.5 /1asa 44.60
18 18x1.5 AacHa 54.80

MpunoxeHune: CocreszatenHu u Off-Road 18 18x1.5 /1saBa 54.80
OKauBaHUA NOAJN0XKEHU Ha BUCOKU 20 20x1.5 dAacHa 84.00
HaToBapBaHUA 20 20x1.5 NaBa 84.00
22 22x1.5 JAacHa 124.00
22 22x1.5 NaBa 124.00

BbTpeLwe Pa ep Ha eHa

[lnameTbp Pe3baTa B [1]]

6 M6 [AcHa 24.00

8 M8x1.25 [acHa 25.50

8 M8x1.25 Jiasa 25.50

10 M10 [acHa 31.60

10 M10 JlaBa 31.60

12 M12 lacHa 36.80

12 M12 JiaBa 36.80

14 M14 [lacHa 42.30

14 M14 Jiaga 42.30

16 M16 [JacHa 49.50

16 M16 JlaBa 49.50

18 18x1.5 acHa 69.80

18 18x1.5 /laBa 69.80
20 M20x1.5 [AacHa 114.80
20 M20x1.5 Jlasa 114.80

Phone / Viber / WhatsApp: +359 (0) 887 926621




YCUNEHWU YHWBanu The Pefmance Shop

YCUIEHU MS-T BbrHwHa Pe3ba

BbTpeweH Pasmep Ha Makc HaToB.
OnameTsbp (MM) Pesbata HioToH
14 14x1.5 OAacHa 71745 64.20
Martepuan: CtomaHa 4135 14 14x1.5 Nasa 71745 64.20
Matepuan Ha flarepa: CtomaHa 52100 16 16x1.5 AacHa 76290 73.40
MNokputune: PTFE 16 16x1.5 Nasa 76290 73.40

3 KoMnNOHEeHTHU
MOTORSPORT — TIGHT TOLERANCE - HIGH PRECISION - HIGH TORQUE

EVLCEERLLLGEY

Half nuts. Din 439B. MNounHKoBaHa

Pasmep Ha eHa
Pasmep Ha Pe3sbata [ebenuHa (mm) P H

Kntoua (Mm) nB. c 4AacC
12x1.5 OAcHa 6 19 2.90
12x1.5 NiaBa 6 19 2.90
14x1.5 OAacHa 7 22 3.40
14x1.5 Nlasa 7 22 3.40
16x1.5 OAacHa 8 24 3.65
16x1.5 Jiasa 8 24 3.65
18x1.5 OAacHa 9 27 4.50
18x1.5 Jiasa 9 27 4.50
20x1.5 [AacHa 10 30 6.90
20x1.5 J1aBa 10 30 6.90

CtomaHeHa Btynka 26p
Matepuan: CrMo CtomaHa

BbHWeH Anametsbp BbTpeweH
(mm) OnameTbp (MM)
10 8 27.80
12 10 31.60
14 10 33.40
16 12 35.60
18 14 42.20
20 16 49.80

YCUNEH CdepuueH Nlarep

Matepunan: CrMo CtomaHa
Martepuan Ha Jlarepa: CtromaHa 52100

Bb eH lnameTtsp BbTpelue olo a H3 eHa
[InameTbp OcHoBaTa3 B [1]]

26 12 12 26.50

29 14 13.5 29.00

32 16 15 34.80

35 18 16.5 44.80

40 20 18 49.50

Phone / Viber / WhatsApp: +359 (0) 887 926621




YCUNEHW YHnbanu Tuning Parts Ltd.

CdhepuueH Jlarep GLXSW FLURO

Spehrical Bearings with PTFE lining, maintenance-free.
Inner ring hardened, ground and polished chrome steel.
For higher dynamic load.

Bb eH lnametsp BbTpelue olo a H3 eHa
[InameTbp OcHoBaTa B [1]1

34 14 13.5 59.90

38 16 15 70.40

42 18 88.20

46 20 18 99.00

ApanTtep 3a Tpbba

Matepuan: CrMo CtomaHa

Pasmep Ha Pe3bata lNocoka Ha Pesbata MoAxopsy
Pasmep Ha
Tpbbata
M8 [sacHa 15x1.5 15.60
M8 NaBa 15x1.5 15.60
M10 [sacHa 20x 1.5 16.90
M10 Naga 20x 1.5 16.90
M12 [sacHa 25x1.5 20.90
M12 Naga 25x1.5 20.90
M14 [sacHa 25x1.5 20.60
M14 Naga 25x 1.5 20.90
M14 [sacHa 30x1.5 25.40
M14 Naga 30x 1.5 25.40
14x1.5 [AacHa 25x1.5 21.60
14x1.5 NaBga 25x 1.5 21.90
14x1.5 [AacHa 30x1.5 26.40
14x1.5 NaBga 30x 1.5 26.40
M16 [AacHa 35x1.5 27.90
M16 NaBga 35x1.5 27.90
16x1.5 16x1.5 acHa 35x1.5 27.90
16x1.5 16x1.5 Jlaga 35x1.5 27.90
18x 1.5 [AacHa 35x2.0 29.90
18 x 1.5 NaBga 35x2.0 29.90
20x 1.5 20x1.5 AAcHa 35x2.0 36.50
20x 1.5 20x1.5 J1aBa 35x2.0 36.50

BTtynkKa 3a 3aBapaBaHe

Matepunan: CrMo CtomaHa

BbHWweH AnameTtbp BbTpeweH Obuwa LleHa
(mm) OnameTtsbp (Mm) LLnpoymrHa ne.c 4acC

34 26 32 19.80

37 29 33.5 22.80

40 32 35 25.60

43 35 35 28.90

48 40 31.20

Phone / Viber / WhatsApp: +359 (0) 887 926621




YCUNEHW YHMb6anu

Matepuan: CrMo CtomaHa

Tuning Parts Ltd.

The cfe'cﬁtmance 8/10)0

BTtynKa 3a 3aBapaBaHe GLXSW FLURO

BbHWweH AnameTtbp BbTpeweH Obuwa
(mm) OnameTsbp (MM) LnpoymHa
42 34 335 46.20
46 38 35 49.60
50 42 34 54.90

Pasmepu
MM

MpoTtekTop 3a Cbcre3arenHa Knertka

26.95

3erep LLanb6a 3a Brynka 3a 3aBapsaBaHe

Material of carbon spring steel with phosphated and oil film.

AnameTtbp Ha GaE o) LleHa

oTtBopa (Mm) ne.c 44c
26 1.2 1.50
29 1.2 1.70
32 1.2 1.95
35 1.5 2.65
40 1.75 2.80

bbp3a 3akon4yanka

byToH 3a bbp3a 3akon4yanka

NpounssoguTten:

Lockfast

Pasmepwm
MM

OcHoBa 3a bvp3a 3akon4yanka

NpoussoguTten:

Pasmepwu
MM

Lockfast

38x52.5

5.60

OcHoBa 3a bbp3a 3akonyanka - 01eKoTeHa

NpoussoguTten:

Pasmepwu
MM

Lockfast

5.95

Phone / Viber / WhatsApp :

+359 (0) 887 926621




YCU/TEHWU YHu6anu The cPesfomane Shop

Mpepnasurten 3a LapHupHU HakpanHuum

M3paboTeH oT HeonpeH ycToM4YMB Ha Mac/o, rpec, ConeHa BoAa U
XMMUKaN.

PaboTtHa Temnepatypa: -20 to +120°C

AnameTtbp Hera
ne.c 4acC

M10/M12 18.60

M14/M16/M18 19.90

M20 / M22 32.00

MnacTtmacosu nucrose PE-300

Pasmepm HebenvHa
MM MM
2000 x 1000 1 114.00
2000 x 1000 2 148.90

Phone / Viber / WhatsApp: +359 (0) 887 926621




